Students will be given a test at the completion of this series of lessons.  The test is shown below.

Name:  _____________________________________     Date:  ____________________

Chapter 23:  Taxes and Social Security

Part A Match each definition below with the correct word from the word list.  Write your answers on the answer sheet.

	Withhold
	Expense

	Deduction
	IRS

	Tax
	Unemployment insurance

	Work credits
	Exemption

	Medicare
	Workers’ compensation


1. an expense that you are allowed to subtract from your income

2. the agency that collects federal taxes

3. measurement of how long you have worked that determine your Social Security benefits.

4. plan that provides temporary income for workers who have lost their jobs.

5. health insurance benefits from Social Security for people 65 and older.

6. benefits paid to people injured on the job or to dependents of workers killed on the job

7. a fixed amount of money excused from taxes

8. to take money out of an employee’s paycheck for income tax due

Part B

Directions:  In the space provided on the answer sheet, write the letter of the choice that best completes the statement or answers the question.

1. Payments citizens make to the government to pay for government services are called  (A) returns.  (B) deductions.  (C) taxes.  (D) audits.

2. On your paycheck stub, the box labeled FICA shows taxes you have paid to support  (A) Social Security.  (B) the Internal Revenue Service.  (C) fire and police protection.  (D) education and transportation.

3. If your employer withheld more money from your paycheck than you owe on your tax return,  (A) you will be audited.  (B) you will receive a tax refund.  (C) you will owe extra tax.  (D) your employer will have to pay a fine.

4. Your taxable income is your income  (A) after you have paid all your taxes.  (B) after you have subtracted certain permitted amounts.  (C) after you have listed your exemptions.  (D) after withholding.

5. One way to influence city, state, and national tax laws is to  (A) refuse to pay them.  (B) include letters with your tax returns.  (C) withhold more on your paycheck stubs.  (D) vote.

6. Social Security provides benefits for  (A) people age 65 or older only.  (B) retired people only.  (C) people of all ages. (D)  people who have purchased work credits.

7. Self-employed people  (A) are not eligible for Social Security.  (B) do not have to pay Social Security tax.  (C) do not have to earn work credits.  (D) must pay both the employee’s and the employer’s share of Social Security tax.

8. Two state-run social insurance programs are  (A) Medicare and Social Security.  (B) unemployment insurance and workers’ compensation.  (C) Social Security and workers’ compensation.  (D) unemployment insurance and Medicare.

9.  You’ll have to pay additional income tax if  (A) your employer withholds too little tax.  (B) your employer withholds too much tax.  (C) you don’t receive a Form W-2.  (D) you don’t receive a form W-4.

10. Social Security taxes are paid by  (A) workers.  (B) employers.  (C) both workers and employers.  (D) adult workers.

11. Which one of the following benefits is not part of the Social Security?  (A) workers’ compensation  (B) survivors’ benefits   (C) Medicare  (D) health insurance

12. One reason why the Social Security system is in trouble is that  (A) fewer people are retiring. (B) the birthrate is declining. (C) the birthrate is increasing. (D) more people are retiring now.

13. To which governmental entities are taxes paid? (A)local governments  (B)state governments (C)the federal government 
(D)all of the above 

14. What is the federal government agency that collects taxes? (A)IRS  (B)SSA  (C)NSA  (D)FBI 

15. The amount of income tax you pay is based on what? (A) the amount of money you earn in wages  (B) the amount of money you earn in interest on savings accounts  (C) profits from the sale of real estate (D) all of the above 

16. What does the IRS require self-employed people to do? (A) pay income taxes quarterly  (B) withhold income taxes from the salaries they pay themselves  (C) pay income taxes but not Social Security taxes (D) pay extra sales tax 

17. On your pay stub, what does the amount marked "FICA" represent? (A)the amount withheld for income tax  (B)the amount withheld for Social Security taxes  (C)the amount withheld in a federal savings account  (D)the amount of Social Security tax you paid last year 

18. How can U.S. citizens influence how their tax dollars are spent?  (A)becoming educated about the tax system  (B)ensuring that people who earn more pay more in taxes  (C)voting  (D)refusing to pay for services they don't approve of 

19. According to the text, what should a good tax system be?  (A)fair (B)clear and simple (C)stable (D)ll of the above 

20. What do you need to do if your employer withheld income taxes from your paycheck? (A)you do not need to file an income tax return  (B)you need to include only other income, such as interest on savings accounts, on your tax return  (C)you need to file a tax return to show how much you earned from all sources and how much tax you owe  (D)you need to get a tax refund 

21. What is the form that tells a company how much to withhold from a person's paycheck? (A)W-4  (B)W-2  (C)1099 (D)1040EZ 

22. What is a legal way to reduce the amount of income on which you must pay tax? (A)put money into a 401(k) fund  (B)say you earned less than you actually did  (C)claim extra deductions  (D)all of the above 

23. Who pays Social Security taxes? (A)disabled workers  (B)the government (C)employees and employers  (D)the elderly 

24. Which of the following is not an example of a Social Security benefit? (A)disability benefits (B)workers' compensation 
(C)retirement benefits (D)Medicare 

25. Who provides unemployment insurance? (A)the federal government, through the Social Security Administration 
(B)the federal government, through the Department of Labor  (C)the individual states  (D)corporations 

26. Why is the Social Security system believed to be going broke?  (A)because people are not living long enough 
(B)because not enough people are retiring early (C)because there will be fewer young workers to pay into Social Security in the future  (D)because the retirement age is increasing 

27. What is tax that is calculated as a percentage of the price of an item purchased?  (A)income tax  (B)sales tax  (C)purchasing tax (D)excise tax

Part C

Directions:  Write the word (or words) that will best complete each statement.  Choose from the word list below.

	Form W-2
	FICA

	Form W-4
	Sales tax

	Falling
	Disabled workers

	Rising
	Property tax

	Dependents
	Income tax return


1. The Social Security system is in trouble partly because our country’s birthrate is ____.

2. Some Social Security benefits are paid to ____ who cannot work because of a mental or physical condition.

3. If you are single and earn at least $6,400 a year, you must file a (n) ____.

4. Your ____ are people you support such as children.

5. ____ are the main source of money for local governments.

6. When you start a new job, you will need to fill out a (n) ____ so that your employer will know how much to withhold.

7. The retirement age with full Social Security benefits will be____ in the future.  

8. ____ are calculated as a percentage of the price of an item.

Part D

Directions: In the space provided on your answer sheet, indicate whether each statement is true or false.

1.  The IRS is responsible for collecting all types of taxes.

2. Sales taxes are withheld from your paycheck.

3. Property taxes are the main support for public schools.

4. An exemption allows you to reduce the amount of taxes you pay.

5. Work credits are measurements of how long you’ve worked.

Part E

Directions: Read each question and answer it to the best of your ability.

1. Most people agree that a good tax system has certain features.  What are four of these features?

2. Suppose you discover that your employer has recorded the wrong Social Security number for you.  Why is it important to correct the error?

3. What is the drawback of having the Social Security taxes of younger workers pay for the benefits that go to older workers?

4.  See the attached sheet.
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Using the Form W-2 information below, complete Form 1040EZ for Susan E. Brown.  He worked as a clerk in a convenience store.  Susan is single and is not claimed as a dependent on her parent’s return.  She does not want to contribute $3 to the Presidential Election Campaign Fund.  Her 1099-INT form showed $29.23 in interest income.  Use the form we have completed in class to help you.  
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